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11.

INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/ questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choase only one
correct/ most appropriate answer, out of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only.

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : . © @ If (B) is correct answer.

There are 100 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as standard.
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LAW - II
fatar - 11

Assertion (A) : Nobody can claim a
fundamental right to create noise
pollution by amplifying the sound of his
speech with the help of loudspeaker.
Reason (R) : While one has a right to
speech others have a right to listen or
decline to listen. Anyone who wishes to
live in peace, comfort and quiet within
his house has a fundamental right to
prevent the noise as pollutant reaching
him.
Code :
(A) Both (A) and (R) are true, but (R) is
not a correct explanation of (A).
(B) (A) is false, but (R) is true.
(C) Both (A) and (R) are true and (R) is
correct explanation of (A).

(D) (A) is true, but (R) is false.

Impeachment Process of Federal Judges

in U.S.A. consists which of the following

acts ?

(A) Simple majority of the House of
Representatives

(B) Thesenate holds a trial to determine
if the official should be convicted
and needs a two-thirds majority to
convict

(€) Only (A)

(D) Both (A) and (B)

HUT (A) : FrE-oft AfF-T8F F TR T
90 1 & & gafedd FTh @ ggu
S H T YA SAEFR F1 I@1 Te B
|

THIUT (R) : foFeft 1 smor 23 1 eafem &,
37 I WY G 1 /A HE ol ATHR F |
¢ off =fem ot o W F win, g ok
feR & =R €, @ yguE @ 39 a@
e W U 1 gAqd ARFR T R

(A) (A) ¥R (R) qFi =& ¥, T (R), (A)
i TE! = e 7

(B) (A) T&d &, UL (R) WE ¥

©) (A) R (R) I T T 3R (R), (A) FT
TE ST

(D) (A) W& 2, 9T (R) TTerd ¥

7,080, § heta ST i werrsEn ufwa o
= 3 a1 sifufm @ e s 2

(A) TSE #E fos=fea § grmo sgaa
BA STEYT |

(B) Toie, =z fafvem w3 & fou f =
feprt 1 St IR S e T,
Toraes T 21-faer agwa 1 sTavawa
Brft, U T HEr g

(C) Fa (A)

(D) (A) @1 (B) qF
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3. Match List - T with List - I and select 3. =it - [ ¥ =it - 11 &1 frem Hifsg 3R kg

correct answer using the codes given T He ﬁmﬂaﬁwwwﬁml
below :
List -I List - II gt - 1 gt - 11

(@) Trade mark (i)  Service mark (a) =HEk foreeR () W& HEE
used by the Hufai & T
group of I9GI Al &
companies

(b) Any mark used (i) Collective mark (b) HFE T AR (i) Hufed 9=
on the product % fow s =
to define the T 1 ST
standard FE

(¢) Any mark that (i) Trade name (c) =i fa= (iii) =H9E™E AH
distinguishes the S Gt &t
source of a service HeA T TEEH Hl &
rather than goods F & awgeii =1

(d) A name by (iv) Certification of (d) v ™ f5ma (iv) WHH &I
which something ~ mark fafyree = = den THIOH
is known in ST ST ®

particular trade
or profession

Code : =

@ (b)) (o) (d) ; @ (B (9 ()
(A) (v) @) @ (i) (A) Gv) @) @6 ()
(B) @) (v) @) (i) (B) (i) (@v) @) (i)
© @ @) @Gv) () © @ @) (@Gv) (@
(D) O @) @) Gv) D) O @) @) @)
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The following conditions must be satisfied
to obtain an injunction in case of
infringement of patent :

(a) The patent owner will suffer an
irreparable injury if the injunction
is not granted.

(b) The balance of convenience lies in
favour of grant of the injunction.

(c) There is a prima facie infringement
on the part of the defendant.

(d) The patent is prima facie valid.

Arrange the above in sequential
manner :

(A) (@), (b), (), (d)
B) (0 (d), @) (b)
©) (@) () () (a
(D) (k). (), (d), (a)

Art. 4 of European Convention on
Human Rights provides :

(A) No one shall be held in servitude
(B) No one shall be required to perform
forced or compulsory labour

(C) No one shall be treated inhumanly

(D) All of the above

Y= F SeeiH % faug § S9N wE w3

% for Freferfiaa wfws = dae 3w st

2

(a) U T TH ST W ¥ difed
e afe frdw uie 7 &t wi @)

(b) Yfaenell 1 d@ge gSiavE H uiE &
T8 H Tea €

(c) TIRIET BRI SToe 1 WIgHT Wl |

(d) T vee gfte | =R T g
I Tl HHITIR AT 1Y :

A) @, ®), © @
® © (@), @, b
© @ ©. ®) @
@ ) @) @ @)

HE SfieRl W gidEa dfauE @t a4
&M AR :

(A) ﬁ-«?ﬁwﬂmﬁ%ﬁﬂﬁﬁﬁTm
Hehdl

(B)  foslt =t ot Sergas @ sifard | g9
FH % fau sre w1 1 Hehar

(C) Tordt & Ty ot smarFEFar § & 9w
3

(D) 39rEa ai
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The preamble to the Universal
Declaration of Human Rights was
adopted on :

(A) 10 January 1948
(B) 10 June 1948

(C) 10 October 1948
(D) 10 December 1948

The covenant on Political and Civil Rights
came into force on :

(A) March 23, 1976
(B) January 3, 1976
(C) December 16, 1966
(D) December 19, 1966

The meeting of the shareholders of
company has been classified under
following :

(a) Annual General Meeting

(b) Class Meeting

(c) Statutory Meeting

(d) Extra-ordinary General Meeting

Arrange the above in sequential
manner :

(4) (@) (b), (), (d)
(B) (@), (d), (c), (b)
(©) (9 (d), (a), (b)
(D) (@) (@), (d), (b)

T ATYEHR 1 Grefeiifiss S g
I e YA T ?

(A) 10 Sl 1948
(B) 10 7 1948

(C) 10 =sR 1948
(D) 10 few= 1948

ST T ArfRes sfter #1 yefer w5
S o aman?

(A) 23 W9, 1976
(B) 3 S=adt, 1976
(C) 16 feE=R, 1966
(D) 19 feHaw, 1966

FO & IR ) dow = ¥ it
afigha forar T ¥

(a) =i WURY Yo%

(b) =i dIw

(c) wifafas S3%

(d) STEMYRY WHE S3w

SYIH 1 STF F Fafed Fifw .

(A) (@), (b), (c), (d)
(B) (a) (d), (), (b)
(©) (o), (d), (a), (b)
(D) (). (@), (d), (b)

SPACE FOR ROUGH WORK / T% &1 &% ford s

Set- A

9210/TFU-LW/ELG-II



10.

11.

Assertion (A) : Whoever
dowry death shall be punished with

commits

imprisonment for a term which can go
upto 7 years.

Reason (R) : Because punishment for
dowry death is provided under
Section 304 of the IPC 1860.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are false.
(C) (A) is false, but (R) is true.
(D) (A) is true, but (R) is false.

The term partnership at will has been
defined under :

(A) Sec. 6 of the Partnership Act
(B) Sec. 7 of the Partnership Act
(C) Sec. 8 of the Partnership Act
(D) Sec. 9 of the Partnership Act

Who is the author of the book “The Spirit
of Laws (1748)”, which explains modern
political concept of separation of powers
in governance ?

(A) John Locke
(B) Aristotle

(C) Montesquieu
(D) Plato

10.

11.

AERE (A) : S FR o = @S 9
& FHRUERA! T, S HIET i G & St
@ 7 o6l 7ok wgE S Gehel 1

®RUT (R) : Ffd o 7. 1860 F1
Y1304 F i T2 9y & fere gve fruifa
o T R

(A) (A) ¥R (R) 1 & € 3T (R), (A)
! T SR § |

(B) (A) iR (R) S a8 1
(Q) (A) = &, fog (R) 93 B
(D) (A) 9 %, g (R) 399 ©1

=1 A 9riterdt 9e st fras sfaa
gftsnfya fofan n 72

(A) wrfierd sifafem & 1782 6
(B) et sifufram & s1g=da 7
(C) wriiert sifufem & = 8
(D) writeRl sifafey * =g 9

" f fefie o e 1748 ' < Tes i, o
g H, wfeE w dean & osnyfae
TSI auRen %1 fosn fiea € & ses
FAT?

(A) i el

(B) ST&

(C) w=wht

(D) =&
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12. Match List-I with List-II and select ~ 12. et - I % @ geft - 11 % frem =g,
correct answer using the codes given 3 fou o %3 F gerw & W@ sW W
below : T HifoT |
List - I List - II el - 1 gt - 11

(a) Berne Convention (i) 1970 (a) & THEEE @ 1970

(b) Paris Convention (i) 1886 (b) Y gEEH (i) 1886

(c) UPOV Convention (i) 1883 () UPOV w®wa (i) 1883

(d) Patent Co-operation (iv) 1961 (d) W= H-HREE (iv) 1961
Treaty feét
Code : FeE:

@ ® (© (@@ @ () (¢ (@@
(A) () (@) (@) () (A) (@) @G @) (@
(B) @) (@) (@) (@ (B) @) (@) (@v) @)
© @ (Gv) (i) (i) © @ Gv) (@) (i
D) @ @) @ (i) D) @ @ @ ()

13. “Right’ as an interest recognised and  13. feq % ®v & wifusn R FHFA G W
protected by the law, respect for which is T HEYT 9T & 1 o 0 ety @ adk
a duty and disregard of which is a wrong. HEHM TF 95 €1 forem wer?

Who stated this ?
(A) HJ. Laski (A) THES. o
(B) Woodrow Wilson (B) 9= faemH
(C) Salmond (C) dHemie
(D) Holland (D) e
SPACE FOR ROUGH WORK / 1% w14 % fordt s
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14.

15.

Which amendment to the United States
Constitution prohibits the states and the
federal government from denying the
right to vote to citizens of the United States
on the basis of sex ?

(A) 19" Amendment
(B) 14" Amendment
(C) 21% Amendment

(D) 4% Amendment

Assertion (A) : The natural Hindu
parent’s right of guardianship ceases with
effect from the date of adoption, whatever
may be the age of the child.

Reason (R) : An adopted Hindu child
shall be deemed to be the child of his or
her adoptive parents for all purposes with
effect from the date of adoption.

Answer with the help of code given
below :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) (A) is true, but (R) is false.
(C) (A) is false, but (R) is true.

(D) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

14.

15.

FAEeE Wy Wiau™ & FH 9 Heie &l
% R 9 gAECE WIH F ANH B
HATYaHR & Sfad T@A i S § T4 1
e WR w1 Frafia s @2

(A) 198 Helya
(B) 14%i HeMw
(C) 218 Helyw
(D) = HEA

ATYFHST (A) : F=3 &1 TR S o g B/
e fafy % wue & o § wifas fag
- foan &1 sfusrees aifusr 9o 2 =
(1

&HIT (R) : TEIwE fafyr & gua & o3 9
TR forn femg s wft sEwEl % e
3194 Sueh HTaT-foer ST s W S

fr=ifra Fe @ =& 3w s

(A) (A) T (R) I WA & &7 (R), (A) T
T A )

(B) (A) T B, W (R) 19 ¥

(C) (A) 39A €, 9 (R) 9 B

(D) (A) @1 (R) THI ¥ §, 9% (R), (A)
H TEl ATAT 7o ¢

SPACE FOR ROUGH WORK / T% &Td & ford w1g
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16.  Assertion (A) : Sustainable development  16. 3o (A) : T THIS it FHedmo & ferg
is critical to well being of human society. RO T foRdiarer g 2
Reason (R) : Environmentally sound T (R) : A9 qFiaviE ifaal, gamEwo
policies do not harm the environment or W1 W A9a WHfaw gEeE # w3
deplete the natural resources, T &t |
Choose the correct code : & Fe g
(A) Both (A) and (R) are correct and (R) (A) (A) T (R) TFT &t ¥ sl (R), (A)
is the correct explanation of (A). I Wet = ¥
(B)  Both (A) and (R) are correct, but (R) (B) (A) 71 (R) 3 w1 ¥, W (R), (A)
is not the correct explanation of (A). ! el AT TE E |
(©) (A) is true and (R) is false. (©) (A) T § 3R (R) s/ ¥
(D) (A) is false and (R) is true. (D) (A) 3/ & 3R (R) T3 ¥
17.  Assertion (A) : The psychological aspect  17. ifumes (A) : FH F FHAMTF T8,
of custom is known as, opinio juris sive Opinio juris sive necessities FHEEAT & |
necessities.
Reason (R) : It implies that the conduct DRUT (R) : Frede 3] oM, TR
or abstention is a matter both of right and & T <M1 %1 O vy &
obligation.
(A) Both (A) and (R) are true, and (R) (A) (A) iR (R) 3T 5 & iR (R), (A) F
is the correct explanation of (A). el AR ¥ |
(B) Both (A) and (R) are true but (R) is (B) (A) 3R (R) =i %@ ¥ v (R), (A)
not the correct explanation of (A). 1 FEl e T8 £
(©) (A) is true but (R) is false. (©) (A) wét & 9 (R) Torw ¥
(D) (A) is false but (R) is true. (D) (A) o7 & 9% (R) 9& &
SPACE FOR ROUGH WORK / 1% &1 % ford wig
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18.

The United Nations is established for :

(a)

(b)

(©)

(d)

To maintain international peace
and security.

To encourage international
co-operation between the nations in
solving economic, social, cultural
and humanitarian problems.

To develop friendly relation among
the nation based on respect for the
principle of equal rights and
self-determinations.

To hold Big powers in maintaining
their hegemony.

Which is correct ?

(A)

(B)

©

(D)

(a) and (b) are correct and (c) and
(d) are incorrect.

(a), (b) and (c) are correct and (d) is
incorrect.

(c) and (d) are correct and (a) and
(b) are incorrect.

All are correct.

18. TIF UZ TH il T &1 RYF &

(a) Sl widt T e H T TG

(b) TS % Hex anfden, A, Wit
Td AEET gaeei & 9me o
Hia Wedm & Uedrfed S |

(c) wuH sfusr ud smefold & fagid
% foe oM & SR el & my
et Hay & fawfaa &)

(d) = wfrdi il STH AT WY =Y
@ H, 3T W 99 )

A dsF-mad &2

(A) g)aﬂt(b)uﬁ%,ﬁa(c)am(d)wm
|

(B) (a), (b) ¥R (c) Wt &, i (d) ora §)

(@) g)aﬂt(d)aﬁ,mwaﬂt(b)w
|

(D) wft =& ¥

SPACE FOR ROUGH WORK / 1% &1 & fod Wi
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19. Which of the following is the right of 19, Fr=fafag 3 ¥ FlT@n SustEn Hao
consumer under Consumer Protection IfufTam, 1986 % sr=ia SusiiEa tfsR
Act, 1986 ? 82
(a) Right to Consumer Education (a) Suvir foren %1 sfisr
(b) Right to Seek Redressal (b) STER T AR
(€) Access to variety of goods and (©) wfreret gl W fafim aeqai w6

services at competitive prices BEIE G E uﬁa
(d) Take goods and services free of cost (d) W= ud dasii fuyes o
(A) (a) and (c) are correct (A) (a) WH (c) W&t &
(B) (a), (b) and (c) are correct (B) (a), (b) W (o) T ¥
(C) (a) and (b) are correct (©) (U (b)Wet &
(D) (@), (b), (c) and (d) are correct (D) (a), (b), (c) T (d) Wt &

20. Assertion (A) ; Corporate Social  20. 3fywes (A) : Frfaa s oifee TH
Responsibility is a business approach that S T & S ot qornfiEt & fon
contributes to sustainable development by nfdep, HrfsTeR SiR waiaTeig i 1 faafia
delivering economic, social and F YRy forre AR FE ¥
environmental benefits for all
stakeholders.

Reason (R) Corporate Social FNT (R) : Fmifes wmfes ot o
Responsibility is not a self-regulating E-fams =Eay gea 7@ 21
business model,
Choose the correct answer - | I F T97 5 -
(A) Both (A) and (R) are true. (A) (A) &R (R) 3 wet )
(B) (A) is true, but (R) is false. (B) (A) W& &, 9g (R) o ¥
(©) (A) is fasle, but (R) is true. (©) (A) e B, 9 (R) T&t &1
(D) Both (A) and (R) are false. (D) (A) 3R (R) i Tera §)
SPACE FOR ROUGH WORK / 1% & & ford s
Set - A
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6 ANEQ1

21. Match List - I with List - I under the  21. &g go% au1 swordrgw sifufrm, 1956 %

Hindu Adoptions and Maintenance Act, ST el - 1 gE - 1A gafed W=
1956 and find the correct answer : W 3T F Fifaw
List - 1 List - 11 Tt -1 =t - 11
(a) Sec. 18(3) () Maintenance of (a) T 18(3) (i) ot =
dependants HIOTIOT
(b) Sec. 22 (i) Alteration of (b) HRI22 (i) oI @t U H
amount of LIEChE|
maintenance
(€) Sec. 23 (i) Wife's (c) umr23 (iii)  woTdIYoT 3 femg
disqualifications G T SRl
for maintenance
(d) Sec. 24 (iv) Amount of (d) Y24 (iv) RTINS} e
maintenance
Code : E T
@ (b (9 (@@ @ (@ () (@@
(A) (@) (v) () () (A) (@) (v) @) (@)
(B) () (v) @) (i) B) @) Gv) @ (i)
©) @) @) @) (v) © G) @) @ (iv)
(D) (@) @@ @ (@v) (D) () () @ (v)
22. Which of the following is not a Juristic  22. fa=iferfag § T = fafus sfm @ §2
~ Person ?
(A) Idol (A) Hfd
(B) State (B) U™
(C) President of India (C) wrE % wgafy
(D) Corporation (D) HEq

23. The case of Donoghue v. Stevenson is ~ 23. SHY 599 ETEa #1 9rE Hafuq £

related to :

(A) Nuisance (A) Syag g
(B) Defamation (B) WrE |
(C) Negligence (C) &4
(D) Contract (D) wfegrd

SPACE FOR ROUGH WORK / 7% &1 % fordt s
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24. Assertion (A) : According to Austin, 24, IIRIEHYT (A): T F HIGR HYY & Jfq
duties owed to sovereign are absolute Fied YT FHried Bl ¢ |
duties.
Reason (R) : These duties are not U (R) : 39 TR #“ﬁfa?{'ﬂ"ﬂ‘ﬁ % faeg
correlated with a right against sovereign. AR & W FE Fedsy TE T
(A) Both (A) and (R) are true and (R) is (A) (A) 3 (R) 2 wél € @it (R), (A) #
the correct explanation of (A). el =T T B
(B) Both (A) and (R) are true but (R) is (B) (A) 3R (R) 3 wet & W (R), (A)
not the correct explanation of (A). 1 W& AR T w |
(C) (A) is true but (R) is false. (©) (A)®&l & W (R) Terd 1
(D) (A) is false but (R) is true. (D) (A) TeTd W (R) 981 1
25. Match List - T with List - Il under the  25. YRel9 g0 wfea, 1860 F e, g - 1
Indian Penal Code 1860 and find the 1 gt - 11 % W gaferd Fifo oiv s
correct answer : ST HT FIF HifoTT |
List - I List - I et -1 Tt - 11
(a) Sec. 312 () Causing death of  (a) T 312 () ERd Fersma firg =t
quick born child. BT T |
(b) Sec. 316 (i) Causing (b) 316 (i) wfeen & =1 &
miscarriage fawg mium
without woman'’s HLEMT |
consent.
(c) Sec. 313 (i) Death of woman  (c) W 313 (i) T F YT
by act done with foran o = T
intent to cause foradt mfeen =1 g
miscarriage. el
(d) Sec. 314 (iv) Causing (d) w314 (iv) U FEET |
miscarriage.
Code : E
@ () (o (9 @ ® (@ (@
(A) @) @) @ () (A) (@) () @) (v)
(B) @) (@v) (@) () B) @ (v) (i) (i)
(©) @) (i) @) (i) (© @) @) (v) ()
(D) (v) (@) @) (i) D) (v) @) (@) (i)
SPACE FOR ROUGH WORK / T% &4 % fod g
Set - A 14
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26. Arrange the followings in sequential
manner as provided under the provisions
of the Geographical Indications
(Registration and Protection) Act, 1999 :

(@) Duration of registration of
Geographical Indication.

(b) Prohibition of Registration of
Geographical Indication as Trade
mark.

(c) Prohibition of Registration of
certain Geographical Indications.

(d) Rights conferred by Registration.
Code :

(A) (), (), (c), (d)

(B)  (®), (@), (d), (c)

© (o) (@), (d), (b)

(D) (©, (D), ®), ()

26.

diifas sfedem AR wd e
aifufm, 1999 % rawHi % dea SrEFw §
=rafead i

(c)

(d)

(A)

(B)

©

(D)

dimfas sfedvm & gsimeo =1
HTATIHT |

TTA & w9 §, Wniifere Sfedve =
YSieRTo o1 ol

9 fafvaa wiifas sfeFyet &
GeiteRtor I fie |

TSR0l | U AR |

@), (®), ), (d)

(b), (@), (d). ()

(©) @), (d), (b)

(€). (@), (b), (a)

SPACE FOR ROUGH WORK / 1% &1 % o v
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27.  Which of the following does not include ~ 27. =1 & 9 firgfi s wd T sifren
Civil and Political Rights ? ¥ witafea & &2
(a) Right to Legal recognition (a) AITHF WiFHfa F1 Afusmr
(b) Right to Nationality (b) U sAfumR
() Right to work, free choice of () = FH, ST 0 oo =9, s
employment, right to rest and M T fagia #1 afasr
leisure
(d) Right to enjoy arts and share in (d) éaﬁaﬁmhmwﬁ' HIFER TS el
scientific achievement & 3= oA &1 SAfen
Code : %he ;
(A) (a) only (A) HF (a)
() (b) and (d) (B) (b))
(© (@) (©) and (d) © (@) (©) T (d)
(D) (c) and (d) (D) () T (d)
28. Which of the following is not protected  28. fa=#H g 1, F9%es fafy gry wfer &
by law of Torts ? 8?7
(A) Loss of commercial profit due to (A) ey % Fwor aifsg =1y #t =l
competition
(B) Reputation (B) wfasr
(C) Physical safety (C) i gran
(D) Peaceful enjoyment of one’s land (D) St fiy =1 wrifegol Ig=im
29. Assertion (A) : Copyright is a negative 29. &®YT (A) : vfafawafysr = mumens
right. ATYFR B |
Reason (R) : Copyright prevents other WHT (R) : Ffferaftmr gad #1 s #i
from copying or reproducing the work. afafef =1 g7ecms #2714 wfistia s
gl
Choose the correct answer : E: ARG i e or ifsa |
(A) Both (A) and (R) are true, but (R) is (A) (A) ¥R (R) 2 W ¥, W (R), (A)
not the correct explanation of (A). 1 Tl AT T 2
(B) Both (A) and (R) are true, but (R) is (B) (A) 3T (R) 2 W&t & W (R), (A)
' the correct explanation of (A). %I el R ¥
(C) (A) is true, but (R) is false. (©) (A) & T W (R) Tord B
(D) (A) is false, but (R) is true. (D) (A) 7eTd 8, W (R) T& &1
SPACE FOR ROUGH WORK / % & % fod s
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30. Mark the correct statement(s) with the
help of the codes given below :

(a) Either spouse can claim
maintenance under the Hindu
Marriage Act, 1955.

(b) Widowed daughter in law is
entitled to maintenance from her
father in law’s self acquired

property.

(c)  Only Legitimate children can claim
maintenance under the Hindu
Adoptions and Maintenance Act,
1956.

(d) An unchaste wife is also entitled to
claim maintenance and live
separately under the provisions of
the Hindu Adoptions and
Maintenance Act, 1956.

Code :

(A) (@), (b) and () only

(B). (b), (d) and (c) only

(©) (a) only

(D) (), (), (c) and (a)

30. fr=iifend e ot e @ W@ wyF =1 fafeg
Ty |

(a) e el e o feg e st

1955 & iqia Sitforer fafe 1 2@
T HFS B

(b) Taeen sg ot swor-dmm ¥ fom sy
Y g1 #AfSa Hufe W 2E1 &7 gt
7

() Faa Ay a4 &, fog ToF wa
SOTdIOT STfufEm, 1956 % faid e
T GFd T

(d) feg % qen wwomi srfufam,
1956 & WasHi % siata =fa=rd ueht
ot B9 T TG AT W@ F =
T G T

&e

(A) %I (a), (b) 3 (c)

(B) FF (b), (d) 3R (c)

(C) *99 (a)

(D) (d), (b), () R (a)

SPACE FOR ROUGH WORK / T% &Td & f&d s
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31. Match List - I with List - Il and select the ~ 31. ot - 1 H1 §elt - 11 % o191 gifers e
correct answer using the code given aﬁ'{ﬁﬁqmﬁiﬁlmﬂ FLHE IR H
below EREl Eﬁﬁﬂl
List - I List - I et -1 et - 11

(a) Attempt (i) Tt does not act (a) WAH FHEAT (i) T€ AT0Y HH F
towards the afsFan =& €1
commission of
offence.

(b) Preparation (i) Culprit (b) AR (i) U B F
commences to do AT IR FET 2|
something.

(c) Intention (iii) When () M (iii) & TN W=HE F
preparation w1 forefi g &1
merges with
attempt.

(d) Inchoate Crime (iv) Itis the beginning  (d) &7qvi sty (iv) I ARYE, 25d 7 |
but not complete.

Code : T

@ () () (9 @ (b) () (a
(A) (@) - (#H) @v) () (A) () () (v) ()
(B) () (iv) (D) (i) (B) (i) (iv) @) (i)
© @ @ @) (iv) © © @) @) (iv)
(D) @ @) (v) (i) (D) (@) () (v) (i)

SPACE FOR ROUGH WORK / T% &1d & fordl wime
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2.

33.

“The right of representation by a lawyer
should be considered a part of natural
justice and can be claimed as of right”.
This was held in the case of :

(A) Gullappalli Nageshwar Rao v. State
of A.P

(B) Joseph Abraham v. Union of India

(C) M.C. Mehta v. Kamalnath

(D) N. Kallindi v. Tata Locomotives

Chapter IV of Competition Act, 2002
deals with :

(A) Duties, powers and functions of
Competition Commission

(B) Duties of Director General

(C) Competition advocacy

(D) Miscellaneous provisions

32.

33.

* srfereer g wfafafue & sifysr #)
Fafitsd =m &1 9m wF s e e
AFR F B9 H T9H @ oFT w1 g
®" = = are ° wiqwfed faran man -

(A) Teedee ANRER T AW Y yow
T

(B) IEW sFfed S WA 6N
(C) THEH. Hed W FHANY

(D) TUA. Shifeist SHM 2T FrpHifes

gfaerai stfufem, 2002 %1 s1eam IV dafum
2

(A) vivmsl smEm =t wd=s, wiwar v
FE °

(B) HeIf R & Hdeq A
(C) wfeayl agedy &

(D) fafay weEwHl &

SPACE FOR ROUGH WORK / T% &% & foad wve
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34. The theories of intellectual property are :  34. #I-aifige® Hudt =1 fagia & -

(a) Natural Theory (a) wrHfT* fagi

(b) Utilitarian Theory (b) IwEfT faga

(c) Reward Theory (c) wfawer fagia

(d) Personhood Theory (d) =afwE fagia

Choose the correct answér : e I &1 997 FifeT

(A) (a), (b) and (c) are correct, but (d) is (A) (), (b), (c) WEl &, T (d) 7Terd &
incorrect

(B)  (b), (c) and (d) are correct, but (a) is (B) (b), (c), (d) &t ¥, T (a) TeTd H
incorrect

(©) (), (c) and (d) are correct, but (b) is (©) (a), (), (d) T& € = (b) 7o B
incorrect

(D) All (a), (b), (c) and (d) are correct (D) i (a), (b), (c) 3R (d) wet &

35. Environmental Impact Assessment (EIA)  35. Wehfoe yerel o1 Fyufeor (B1A) vy & & fir
is mandatory under which one of the YRATE HHA % sfarta stfyamd &2
following Indian Legislation ?

(A) Indian Forest Act (A) YR o7 A

(B) Air (Prevention and Control of (B) =g (wqwwr wfierw ws foaawn) s
Pollution) Act

(C) Wildlife Protection Act (C) o it HYaT A

(D) Environment (Protection) Act (D) wHERw (HRET) HA

SPACE FOR ROUGH WORK / T% %14 % fordt wmg
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36. Match the following : 36. = =i gofea wifSw
List - I List - II Tt - 1 - 11
(a) National (i) 1995 (a) U FEEE (i) 1995
Environmental = sfufrm
Tribunal Act
(b) Public Liability (i) 1991 (b) WESHF Sfae (i) 1991
Insurance Act form &= wd fam
and Rules
(c) National (iii) 1997 (c) UT gaievitg (iii) 1997
Environment e WifereR
Appellate Afufam
Authority Act
(d) Biomedical (iv) 1998 (d) e -3fmfy s@fdme (iv) 1998
Waste ©ELERCE )
(Management IERL
and Handling)
Rules
Code : Fe
@ (B (© @ @ (b) (g (d)
C(A) (v) () () () (A) (v) () @) @
(B) Gv) () () (@) B) (v) @) () ()
© @ @ @) (@) © ) @) @) (@v)
(D) () (v) (i) () D) @ (Gv) (i) (i)
SPACE FOR ROUGH WORK / % &/ % ford sie
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37. Which of the foIlowing is not the objective,

38.

which the Preamble secures to every
citizen ?

(A) Justice

(B) Independence of Judiciary

(€) Equality

(D) Fraternity

In US.A. unlike India the power of the
Supreme Court to declare an act of the
legislative or executive branches to be in
violation of the Constitution through
judicial review is not found in the text of
the Constitution itself. Instead, the court
itself established the doctrine in the case

_—of :

.-/-'-

(A) Marbury v. Madison, 5 U.S.

(1 Cranch) 137

(B)  United States v. Kubrick, 444 U S, 111
©)

Fox v. State of Ohio, 46 U.S. 410

(D) Lambert v. California, 355 U.S. 225

37. Trafafed ¥ @ Fa stwg w8 ¥ oo

38.

TEIE Yl AR % fern giafeas s
87

(A) ==
(B) ATHIYRTOT ST TEaAa
(C) HHwa

(D) wE=m

R 9 Ty goumw F faurfrer sgar
HTEHIOR raTel 1 fret of w5 =nfas
THET g WA % Seeie R 2 A
wafq wet= = #5 viE w1 oee
| F & & e € g wwy
A A W € 7 9 e et # s
fasia wnfm 1 £ 2

(A) & T HEi7, 5 U.S. (1 %iw) 137

(B) FWET VTH FTH Favien, 444 US.

1L

©) P FIT V2 3qF G 46 US,
410

(D) = T oA 355 US. 225

SPACE FOR ROUGH WORK / T% &1 & fory e
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39.

40.

(b)

(©)

(d)

" Law is a body of rules for human conduct
within a community which by common
consent of this community shall be
enforced by external power.” Who said ?

(A)
(B)
(©)
(D)

Austin

Starke
Oppenheim
Henery Maine

Match List - I with List - IT and select the
correct answer using the code given

below.

List - I List - IT

Contents of the (1) Sec. 54 of

Prospectus of Companies

company Act, 2013

Preference share (i) Sec. 26 of
Companies
Act, 2013

Sweet Equity Share (i) Sec. 68 of
Companies
Act, 2013

Purchase of its own (iv) Sec. 85(1) of

shares Companies
Act, 2013

Code :

@ (b (9 (d

(A) @ @ (@) (i)

(B) @) () () (iv)

© @ @Gv) () (i)

(D) Gv) @) () (i)

39.

40.

()

(©)

(d)

"TF GEE ¥ R Aee s & fem
T T Tl 1 e €, S s ufE g
¥ WA % W genfa 4 @ e 9w
Fo forg 82

(A) #HifEs

(B) wrH

(C) sirmfen

(D) &=

et - 131 el - I % @1y gafe #ifm

S A e T e 1 ver @ @ T

=T i |

T - 1 gt - 1

FHE & (i) AT sAfuafTy,

famo-ux =1 2013 1 T 54

forg-a%g

SMEN SRR () SO sifufem,
2013 1 3TT=T 26

AL W91 319 (i) S ifafam,
2013 F1 T=< 68

A FIWRF (iv) F sfufrers,

E 2013 1 AT
85(1)

@':

@ (b) (c) (d)

(A) @) () @) (iv)

(B) (@) @) @) (iv)

© @ Gv) @ (i

(D) (v) (i) (@) ()

SPACE FOR ROUGH WORK / T% &Td & fod e
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41.  Assertion (A) : No one has a better title ~ 41. 3IRTERUT (A) : 39% =T = TEMHFR A
than he himself has. BT TEHR Rt #7 T8
Reason (R) : Unless the owner of the TOT (R) : STaah fof axgeii & @t soe
goods is by his conduct precluded from SRR W, fashasl & fawa & sfusn w
denying the seller’s authority to sell. Uk & & wfeafera & faran wman |
Choose the correct answer. e I g
(A) Both (A) and (R) are true, but (R) is (A) (A) 7 (R) ST w7 €, T (R), (A)
not the correct explanation of (A). il el A e £ |
(B) Both (A) and (R) are true and (R) is (B) (A) T (R) @1 93 ¥ 3R (R), (A)
the correct explanation of (A). 1 el = ¥ |
(C) (A) is true, but (R) is false. (©) (A)¥F %, T (R) 379 2
(D) Both (A) and (R) are false. (D) (A) 91 (R) i 315 ¥
42.  Match List - I with List - Il and select the ~ 42. et - 1 H Gt - 11 3 W1y gfam #ifsm
correct answer using codes given below R = feu e 1 STAN FHT T I F
the List : EREEHIE
List - I List - II eIt - 1 T - 11
(a) United Nations (i) 1943 (a) HIF U T FH =N (i) 1943
Declaration
(b) Moscow Declaration (i) 1945 (b)  wien Sy (i) 1945
(c) Dumbarton Oaks (i) 1942 (c) T e gem (i) 1942
Conference
(d) San Francisco (iv) 1944 (d) 89 i gem (iv) 1944
Conference
Code : e
@@ () (o (@ @ () (9 (@
(A) @ () @) (v) (A @ @) @) (i)
(B) (v) () @) (i) B) (v) @) () (i)
(€ @@ @v) @) (@ © @) (@) @) (@)
(D) @) () (v) (i) (D) @) @) (@v) (i)
SPACE FOR ROUGH WORK / 7% &1 % ford s
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43. Match the following : 43, = = gafaa it

List - 1 List - II -1 -1I
Possession must be LIENEEED i
protected because : HEAT AT FE :

(a) Kent ) Man by taking (a) F= (i) URRMEE FEeY
possession has brought ® TS g% &l
the object within the HEd & | o 3l
sphere of will. 7l

(b) Holland (ii) In possession there is (b) eis (i) dreeE H safE &
manifestation of T U Bl 2

individuals will.

() Hegal (i) Every act of violence is = (c) #& (i) fEor =1 v3w s
unlawful. R A
(d) Savigny (iv) It is essential for (d) Wfaw (iv) wifd w=m9an & o
preservation of peace. =g sifard § |
Code : 15 Fe
(@ (b) (o) (d) @ (b (o (d)
(A) () @) (@) () (A) (i) (@) (@v) ()
(B) @ (v) @) (@) (B) () (v) (i) (i)
(© () (v) (i) () ©) @) (v) @) ()
(D) @) () (i) (iv) (D) @ @) @) (@)

SPACE FOR ROUGH WORK / 1% &1 & f&a g
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44.  Which of the following is true ? 4. fEdFR-wamd?

(@) In unincorporated firm there is not (@) U ffaa fem § v ofik so%
much difference between firm and qrgeRi | wgd A o & 7
its partners.

(b)  Firm can be constituted of a single (b) T, T EAfE | fsd e < g
person but not the company. T F59A T |

() Company is distinct from its (c) R 3o gew | fit B RIE|
member but not unregistered firm. S-S w78 |

(d) Company is a juristic person but (d) et gifes gd7 gy 2 T
not the unincorporated firm. sifrafaa wH =18 |

Code : FT

(4) (), (@) (4) (9 (d)

(B) (a), (b), (d) (B) (a), (b), (d)

©) (@), ®), () ©) (@) (b), (o)

(D) (a), (b) (D) (a), (b)

45. Can Preamble be amended ? This 45, 1 JEATE i fra s @ €2 a9
question was raised for the first time ¥ wEelt 91 7 § 9§ frg amet § wets
before the Supreme Court in which of the A o+ GRE IS 71 ?
following case :

(A) re. Berubari CasE,“AJQ 1960 SC 845 (A) re. Sl WHE, AIR 1960 SC 845

(B) S.R. Bommai Vs. Uni;\ﬁ f India, (B) TH.R. I S Wl w (1994)
(1994) SCC 1 \ SCC 1

b~

(€) Kesavananda Bharati Vs, State of ©) FYEFT IRHA §978 HI{A I
Kerala, AIR 1973 SC 1461 TAIR 1973 SC 1461

(D) Golak Nath Vs. State of Punjab, (D) TieTFAI T GSmE T9Y, AIR 1967
AIR 1967 SC 1643 SC 1643

SPACE FOR ROUGH WORK / 1% T4 % ford g
Set - A 9210/TFU-LW/ELG-II



46.

47.

The term “Rule of Law” is derived from
the phrase ‘La Principe de
Legality’ (the principle of legality) which
refers to a government based on principles
of law and not of men.

(A) Latin
(B) French
(C) Roman

(D) English

Section 19 of Motor Vehicles Act, 1988
deals with :

TR
(A) Powers of licensing authority to
disqualify from holding a driving
license or revoke such license

(B) Definition of licensing authority
(C) Renewal of driving license

(D) None of the above

46.

47,

T 'Ta AE @ H e

iy ‘o T & famfet’ | gen E
forge 319 ® A fogid W R A F
AT R ST TR |

(A) &fA
(B) W=
(© T

(D) sfem

X g Afuf=H, 1988 1 9 19 Hsifdd
2.

(A) ST WTEHRT T, =T STwfe ST
w7 ¥ Frfda 0 =1 38 wfodso w3
Fit vfea |

(B) ST WEHRT &t ufvren |
(C) e ST 1 Tl §

(D) S H | FE TR

SPACE FOR ROUGH WORK / T% @14 & fad sg
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48.  Consider the following and thenselectthe 48, F=ftfigs Fem T fam=m =ifsig @ik fau mo
right code. F2 H W@ IW =77 FHifow )
Theft is robbery if, in order to committing U HHRY =1 # e29e 9 S 4t
the theft, the offender : A & A st fe e o
(@) Voluntarily causes death to any (a) SR fodft =fem #) ar 3@ &)
person.,
(b) Voluntarily causes hurt. (b) SHIHH IHRF Hle AT |
(c) Voluntarily causes wrongful (c) SSETF HEW TTFY S L &
restraint.
(d) Voluntarily causes mischief. (d) STTgHF T FI |
Code : & :
(A) (a), (b) and (d) are correct. (A) (a), (b) ¥R (d) T&T ¥
(B) (b) and (c) are correct. (B) (b) 3R (c) W& 1
(C) (a), (b) and (c) are correct. © (a), (b) 3R (c) Tt ¥
(D) (a) and (d) are correct. (D) (a) 3R (d) @&t €1
49. Name of the Act/Statute provided by  49. IF. WU F g W SRRt sreraT Sy
Parliament of U.K. to make provision for Ao St 3= YAt T @ ¥ g HRfeaa Tt
the disclosure of information held by AT H The 1 & T F forw arn
public authorities or by persons providing T SR/ Hfaf 1 A e § 2
services for them in UK.
(A) Right to Information Act, 2005 (A)  H=T 1 tfer sxfafy, 2005
(B) Freedom to Information Act, 2000 (B) ¥= =t waEar afufEm, 2000
(C) UK Information Act, 2002 (© g3 g=m wfufem, 2002
(D) Right to Public Information Act, (D) @ik g siferer sfufim, 2000
2000
SPACE FOR ROUGH WORK / T% %14 & fort wmg
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50.

(b)

(©)

(d)

51.

Match List - I with List - II under the
Indian Penal Code, 1860 and find the
correct answer :

List -1 List - II

Sec. 401 (i) Punishment for
belonging to gang
of dacoits

Sec. 399 (ii) Punishment for
belonging to gang
of thieves

Sec. 400 (iii) Assembling for
purpose of
committing
dacoity

Sec. 402 (iv) . Making
preparation to
commit dacoity

Code :

@ () () (d)

(A) @) @) @) @)

(B) @) (@) @) (@)

© G @) Gv) ()

(D) () (@) (v) (i)

Which of the following case is related to
defence of Act of God ?

(A) Buron v. Denman

(B) Hall v. Brookland

(©) Metropolitan Asylum Board v. Hills
(D) Nicholas v. Marsland

50.

(a)

(d)

51.

R 208 Hiedl, 1860 F et et - 13
it - 11 % |9 Gafem Hife o 7t 3w

1 FIH FifeI |

gt -1 =t - 10

{401 (i) THHA F TR F
HEH B W TE

HRI 399 (i) U F T H
T T W0

R 400 (i) Sl ST & LY
Y TFA F

YR 402 (iv) STeRI SToH i FIR
FT

E T

(@ (b) (¢ (d)

(A) @) (@) @) ()

(B) (i) () (@) (v)

© @) @@ @Gv) (@)

(D) @ @) (v) (i)

7= | @ F99 TR, dvar | fHg v 9
Hafum &2 '

(A) FEA F9Y SHEA

(B) ®el 5 FeheivE

(C) Ui waEe™ arE a4 faed
(D) Trerre M RS

SPACE FOR ROUGH WORK / % & &% fordr e
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52. Match List - I with List - II under the  52. 3T.4t.4l. 1860 % srarfa & gt - 1 &1
[PC 1860 and find the correct answer : Tt - 11 % w19 gaferd Fifae sit wd@ 5w
I =g FHif |
List - I List - II -1 et - 10
(@) Sec.442 (i) Criminal Trespass (a) 442 (i) Y sfER
(b) Sec.443 (i) House Trespass (b) ®M 443 (i) 7E =R
(c) Sec.441 (i) Lurking House (c) H®RI441 (i) W= e AfqER
Trespass
(d) Sec.444 (iv) Lurking House (d) ¥RT444 (iv) TAH o0 T8
Trespass by night R
Code : e :
@ () (© (d @ () () (@
A) O @) @ W A O @) @ @)
B @ () G G B) @) @) @)
© @) @ G @@ © @) @ @) @)
D) @) () @ @) D) @) () @) @)

53. Arrange the following Human Rights  53. frafefaa ame sifsr gaell = =o%
Conventions in the chronological order of WiFd & YR W oqFT § sqefryq
their adoption : I
(a) Convention on the elimination of all (a) wieens % favg d=wE F vt =

forms of discrimination against ! qHIf T T e |
women.
(b) Convention on the prevention and (b) WG HerR W qFk TH 379y T8 W
punishment of the crime of HAHEA |
genocide.
(c) Convention on the protection of the (c) Vardt gl & Rl F e w
Rights of migrant workers. T |
(d) Convention against Torture. (d) SciteT & favg |
Code : e
(4) (@), (b), (c), () (4) (@), (), (), (d)
(B)  (b), (@), (d), (c) (B)  (b), (a), (), ()
(©)  (©. (®). (a), (d) ©)  ©. ®), (a), (@)
(D) (D), (), (b), (a) (D) (@) (), (b), (a)
SPACE FOR ROUGH WORK / T% &1 & fot s
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54.

58.

(@)

(b)

(©)

(d)

Ombudsman was first used in its modern
sense in 1809 when the which of the
following established the office of Justitia
ombudsman, who was to look after
citizens’ interests in their dealings with
government ?

(A) Indian Parliament

(B) American Parliament

(C) British Parliament

(D) Swedish Parliament

Match List - I with List - IT and select the
correct answer using codes given below
the List :

List - I List - 11
Universal Declaration (i) 18" Dec, of
Human  Rights 1979
Covenant on (i) 10 Dec,
Economic, Social 1948

and Cultural Rights

Covenant Civil and  (iii) 3" Jan,
Political Rights 1976
Convention on the  (iv) 23" March,
Elimination of All 1976

Forms of Discrimination

___——Against Women

Code :

(@) (b) () (d)
(A) () (@) (v) ()
(B) () (v) () ()
(© (@v) (@) @ @)
D) @ Gv) (@) (i)

54.

55!

Sfraresei Tge 7ot emyfe wug § eel
IR 1809 # f&an o w& =1 ¥ | 3=
wiefesn afraesd, fas Fm A &t
fedi & fore womes 3 WY SRR FE 91 F

T we SAfTRE =T T T o
(A) ¥RAE HEg
(B) s dEQ
(C) fofew Hug
(D) e d8g
gt - 1 H g - 1 F Wy gifew wifsw
#HR = feu T He F I FAE SHW
1 T HifaQ :
qt - 1 gt - 1
e Afewii w1 (1) 18 femw, 1979
gresiifiyes s
anfe, wrfsie (i) 10 feawa, 1948
¥R Tiepfas
el W AfaHET
ARG 3R TS (jii) 3 FHad, 1976
Rl T sAfagem
Hfeensdl & foes (iv) 23 W, 1976
4l YR F Ig9E]
i FHIE W EE
he:
(@ (b) () (d)
(A) @) (@) (@v) (i)
B @ @Gv) @ (i)
© Gv) @) (@) (i)
(D) @) (v) (i) (i)

SPACE FOR ROUGH WORK / 7% & & fod e
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56. Safeguarding forests and wildlife and 56, TafaRw § 57 ws a=1 W Geewor TS UK
protection and improvement of
environment is :

(A) One of the Directive Principles of (A) T HAfaF v aei g g T
State Policy.

(B) One of the Fundamental Duties. (B) WA wdeH § | wH B

(C) Both one of the Directive Principles (C) =i T ifa frefvres aeii § A TH &
of State Policy and one of the HeAYd Haedi § 9w T
Fundamental Duties.

(D) A Fundamental Right. (D) Heayd AfuFR &

57.  "Justice should not only be done, but  57. ‘‘=m ¥ue frar € W TE wfeq sfesw
manifestly and undoubtedly be seen to be Yhe ¥ 9 iR .6 fora e =m e
done”. This was held in which of the =ifee”’ 77, f7e & § fFg ae § G RIEGE
following case : foan a2
(A) RS. Das v. Union of India (A) HRTH. TH 999 YRA 99
(B) R.v.Sussex Justices (B) ¥R 9 §9F =gy
(C) Ridge v. Baldwin (C) = W weefm
(D) Union of India v. P.K. Roy (D) 9Rd €9 59 9.3, i

SPACE FOR ROUGH WORK / T% &1 & fordt st
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58.

(a)

(b)

(c)

(d)

Match List - I with List - II and select the
correct answer using the codes given
below.

List - I List - 11

Adamson V. Jarvis (i) Agency

Cogg V. Benard (i) Pledge
Lallan Prasad V. (iii) Bailment
Rahmat Ali

Krishna V. Ganapati (iv) Indemnity

Code :

(@ () (o (d)

(A) (v) () () (@)

®) @ @ @@ @)

© O @ @) @)

(D) @ @) @ (i

58.

(d)

eIl - 130 el - 11 % |19 gAfer sifom
3R = few T e B W S =g i

gt - 1 et - 11

TEHHA 991 () e (Agency)

FMTESTE (i) R (Pledge)
AT FHIE 99 (iii)  SYMHH (Bailment)
@HG 3Tet

FO AW TUNAT (iv)  efagfd
(Indemnity)

(@ () (o) (d)
(A) (v) (i) @) (@)
(B) (@) () () (iv)
© @ @@ () (v)

(D) (@) (v) (@) (i)

SPACE FOR ROUGH WORK / T% &Td & ford g
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29,

60.

Who said that, “Administrative Law is the
to the
Governmental Power” ?

law relating control of

(A) Garner

(B) Jennings

(C) Robson

(D) Wade

The rule laid down in Re Polemis case is
that the defendant shall be liable for all :

(A) Direct consequences of his act.

(B) Direct consequences of his act, if he
could foresce damage to the plaintiff
from his act,

(C) Direct conseﬁuences of his act only
if he could foresee the kind of
damage which has actually

occurred.

(D) Foreseeable démage.

§9,

60.

e o a1 - ' v fafer s wifas
w1 frgm w0 davht fafg 3772

(A) TR
(B) i
(C) s

(D) &S

4 diferam F o § freom gfofed frar m
mﬁmﬁaﬁraﬁmﬁ’rm:

(A) 3 F F IS T IROTE
fera

(B) e T T wEE g wRomE ¥
o, afe a7 s19d ey @ At # arfa
B FT 9 FogT H gHaT o |

© &9 FI ¥ 99wy g ¥
fom @+t o o% anafow & afa %
YFR 1 T8 Feq1 F Ghal 7|

(D) Ye=few afy % faw

SPACE FOR ROUGH WORK / T% %14 & ford s
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61.

62.

The abetment of an offence being an
offence, the abetment of such an
abetment is also an offence. Which of the
following provision under Indian Penal
Code deals with ?

(A) Section 109
(B) Section 108
(C) Section 112

(D) Section 114

“International law is the body of rules
which are legally binding on States in their
intercourse with each other. These rules
are primarily those which govern the
relation of States, but States are not the
only subjects of International Law.
International Organizations and, to some
extent, also individuals may be subjects
of rights conferred and duties imposed by
International Law” is defined by :

(A) Starke
(B) Oppenheim
(C) Schwarzenberger

(D) Austin

61.

62.

Y T TH Y § 6 TE, 9 WK
6 RO T T ot T ST ¥ 1 WRed
TUE HiEd F FH-T WEYE 39 A gty
€7

(A) R 109
(B) T 108

(C) w112

(D) W 114

" i FwrE, Rl W o deen € S
T o e Fernedl  farfires dv o s
BT 81 e 3R R 98 fram ol ¥ e
ol 1 T wW ¥, W T @ FEw
AR SrE & y9E | T8 o9 afew
T W3 Ud F9 22 a9 At oft =
FIA i & T sfusRl vd wee %
areT o fore area 2 € 1 seent uttems frad
§2?

(A) WA
(B) 3oy A
(C) varsHEsk A

(D) 3 A

SPACE FOR ROUGH WORK / T% &8 & ford sig
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63.

In case of reimbursement for the payment
made by an interested person under
Sec. 69 of the Indian Contract Act, what
must be proved by the plaintiff ?

(a) The plaintiff must prove that he is
an interested person in making
payment to another.

(b)  The plaintiff is not bound by the law
to make payment to another.

(c)  The plaintiff is bound by the law to
make payment to another.

(d) The defendant is bound by the law
to make payment to another.

Choose the correct answer by using the
code :

(A) (a) and (b) are correct, but (c) and
(d) are incorrect.

(B) (a) and (c) are correct, but (b) and
(d) are incorrect.

(©) (a), (b) and (d) are correct, but (c) is
incorrect.

(D) (a), (c) and (d) are correct, but (b)
is incorrect.

63. widyfd & et & vty wfaer sifufiem =

wsgﬁmmﬁﬁzﬁmaﬁwwﬁ
%ﬁrqmﬁgmw,mﬁﬁﬁmmmﬁq?

(a) I, TE Al H YA w0 H ST}
fed wga fag =4

(b) AT, T I T F F few FEA
BRI 91eg TE &

(c) mﬁ,@iﬁwﬁm%mw
BRI e B

(d) wfvErEl, T B gEE w9 ¥ o
FIA 5 1% B

Fe & ITM | Wl S gAAT

(A) (%a)lza' (b) W& €, W (c) W (d) T
|

(B) (%am'q‘(c)vﬁﬁ(b)@(d)ﬂm
|
©) (@) (b) T (d) W& &, 9T (c) ToE ¥

(D) (a), (c) T (d) W&t &, Tg (b) o #

SPACE FOR ROUGH WORK / T% & & forr wmg
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64. Arrange the following in a sequential

65.

manner as provided under the Indian
Contract Act and choose the correct
answer :

The vitiating elements are as follows :
(a) Fraud

(b) Coercion

() Mis-representation

(d) Mistake

(A) (a), (b), (c), (d)

(B) (d), (c), (b), (a)

© (@ (@) (®), (d)

(D) (b), (@), (), (d)

What is the period of limitation under
Section 24 A of Consumer Protection
Act, 1986 (as amended w.e.f. 18/6/1993)
for filing a complaint from the date of
cause of action ?

(A) Three years

I (B) Two years

(C) One year

(D) No period of limitation

64.

65.

yrtg wfag sifufrem & ofefa ge=w
Tr=feified i FarER sqaftad = a8 3w
1 TG HIT

gft e €

(@) %9

(b) WA

(c) TeHweH

(d) ¥=

(A)  (a), (), (c), (d)
(B) (d), (9), (b). (a)
© (@) (0). (b), (d)
(D) (b), (a), (c), (d)

SR e sty 1986 (18/6/1993
T AT HITem) T YR 24 A % atE 9
#q fore A Q frprge e =3 =1 wfdi
srafy 1 2

(A) = a9
(B) Trad

(C) TH=H
(D) 18 9feE arafy ==

SPACE FOR ROUGH WORK / T% && & fod sme

9210/TFU-LW/ELG-1I

Set - A



66. An irregular Muslim Marriage can be  66. TF afiq i foare & e o HHR
made a fully valid one by remedying the A TRl Sy faame § sgen s wwar §
prohibition. In view of this, which of the WY | e F W
following is/are correct ?

(@) A person can marry fifth wife by (a) T AR =R ferl ¥ @ U ) o
divorcing one of the four wives. T e ol @ forame #Y g gl

(b) The bar of Iddat Ceases on the (b) 3TEA A F TH B T W 355 Y
expiration of Iddat period. THT B S |

(c) A person can marry his wife’s sister (c) U= =afad 319 Uit 1 qoms 2ot
by divorcing his wife. il T e | e g 2

(d) On conversion of Kitabia wife, the . (d) Terafern oeft =t ymfaro w faeme 3y
marriage becomes valid. HIT ST & |

Answer by using codes given below : FZ & ITIRT § I A

(A)  (b), (c) and (d) only (A) & (b), (c) T (d)

(B) (a), (c) and (d) only (B) Haa (a), (c) & (d)

(© (), (d) and (a) only (©) I (b), (d) T (a)

(D)  (c), (b), (a) and (d) (D) (9, (b), (a) T (d)

67. Indian Mercantile Civil laws are  67. YRAE =HRH RS FH 1 § @ g
influenced by legal practices and W % fafus =Rl v fagid @ wafag
principles/doctrines of which of the BaTE?
following country ?

(A) Common law of UK. (A) ¥ FHr e
(B) Laws of US.A. (B) 4WHT FAq
(C) Laws of France (C) wEFad
(D) Laws of Russia (D) WETHaATH
SPACE FOR ROUGH WORK / 1% &4 % fo1d wg
Set - A 9210/TFU-LW/ELG-I1



68.

69.

70.

What is the meaning of the ‘Pacta sunt
servanda’ ?

(A) Parties to the treaty are binding by
the treaty.

Parties to the treaty are not binding
by the treaty.

The states are not bound to fulfill
the obligations assumed by them.
Parties are not bound by the treaty
because there exists no customary

(B)
(©)
(D)

rule of International law.

An ‘obiter dicta’ :

(A) Is binding on the Court

(B) Is not binding on any Courts
(C) It is of persuasive value in any
subsequent decision, in the same
Court or in another Court

(D) Itis useless

Which of the following statement is true
about Austin’s concept ?

(@)
(b)
(c)

All commands are law.

Only general commands are law.
Every command is law which
impose a duty enforced by sanction.
Sovereign command does not imply
duty and sanction.

Code :

(A) (®), (0) (d)

B) (@), ®) ©

©) ®) ©

(@), (b), (c), (d)

(d)

68.

69.

70.

 gfagr gaen w0 e ad &2
(A) Wi § Hore g, i g s g

(B) el | Herd v, Helt gra A & € |
yidgdt & ferg amen =& €1

Het g Herd us, Welt & Wt s
& € it i fafy & wfera
frgdi § she Seoia TR E

(©

(D)

T 3TNMTH 3 (obiter dicta):

(A) e & foe stesr )

(B) Tl ofi =maera % forg smezeprdt =&
4

g 3G AT H SYEl 3T ey
¥ et swad fofa & fog o v
qa Tl

g fefss &1

(@)

(D)

iz depeq & fauy o fafafes § 9
I |1 YT WE £ ?

(a) Tt woRE fram

(b) FE@ T ey )

() FAT S Wh HT & A Hww F
BT SETYE oeh ST €1

HHY STV Yk T FHE T e
%l

%a :
(A)
(B)
(©)
(D)

(d)

(b), (c), (d)
@), (b), (¢)

(b), (c)

@), (b); (c), (d)

SPACE FOR ROUGH WORK / 7% &4 & f&d smg
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71.  Match the following : 71
List - I List - II 1 - 11
(a) Power (i) Liberty or (a) I (i) A Fga
privilege fagrmfyer
(b) Liability (i) No claim (b) wfFE () g
(€) Claim (i) Immunity (c) =mam (i) SRt
(d) Duty (iv) Disability d) = (iv) sTgefda
Code : FE
@ (b) (¢ (4 @ () (0 (@
(A) @) (v) () () (A) (@) (v) (i) ()
(B) (v) (i) (i) () (B) Gv) @) @) (@
© Gv) @) @) () © (v) @) @) ()
D) @ G) @) (@) D) ) @) () (v
72.  The importance of Digital Signature are: 72, fafiee wemer =1 Tea & -
(@)  Protecting the signature at the point (a) iford L WA TEAER ) G Fa
of signing. .
(b)  Protecting the signature in storage. (b) HURY H BEAAR FI Had w2
(c) Protecting the signature in Mobile (c) HISTEE THA | SRR HY TR F
device. gl
Choose the correct answer el I F1 =97 FA0 .
(A) (a) is true, but (b) and (c) are false, (A) (a) W &, WA (b) 3R (c) o ¥
(B) (b) is true, but (a) and (c) are false. (B) (b) W& §, W (a) 3R (c) Toma ¥
(©) (¢) is true, but (a) and (b) are false. (€) (o) W&l B, W (a) 3R (b) 7Tort &
(D) Al (a), (b) and (c) are true. (D) Wt (a), (b) 3R (c) T §)
SPACE FOR ROUGH WORK / T% &Td & fod wmg
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v i

74.

In which of the following cases did the
Supreme Court of India gave the ruling
that sovereign immunity of State is subject
to the fundamental rights ?

(A) Kasturilal v. State of U.P.
(B) State of Rajasthan v. Vidyawati
(C) PUDR v. State of Bihar

(D) Shyam Sunder v. State of Rajasthan

A marriage is voidable under the Hindu
Marriage Act, 1955 on the following
ground(s) :

(@) Concealment of pre-marriage
pregnancy by the respondent.

(b) Impotency of the respondent.

(c) Consent of petitioner obtained by
force or fraud.

(d) Option of puberty.
Code :

(A) (9, (a) and (b)

(B) (@), (b), (¢) and (d)

(€) (d) (b) and (a)
(D)  (b). (d) and (c)

73.

74.

frfafes A @ fog 9k # yrda s=@d
e | F8 wfawfed feran fo o= =6t iy
SR Hifersw afrri % o= €2

(A) FHEU e F9H IW 99 T
(B) SR T59 oW foenadt
(C) H.YEeR. §AW faer Ty

(D) v Gt §9W TSUH T

freifra aegazdl & snur W feg foaw
wifafm, 1955 & e, faame oy
BT g

(a) el R ferame & mviem & g

@l |
(b) wiGaTEl =1 TYEF BT |

(c) o AY F92 F AeAq F Afeant
1 FAYT Y A

(d) TETF Hi faheq |
He

(A) (0), (a) T (b)

(B) (a), (b), (c) W& (d)
(©) (d), (b) T (a)

(D)  (b), (d) T (c)

SPACE FOR ROUGH WORK / 7% %14 & &g sne
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75. Match List - I with List - II using the  75. % fXq ¢ %z %1 3wdm &2 geft - 1 31
code given below : gt - 1% 91y gafera wifew |
List - I List - II qef-1 et - 11
(a) Culpable () Sectiond499, IP.C. (a) MWIYF AHE (i) STERI. =
homicide 94 YRT 499
(b) Defamation (i) Section 378, LP.C.  (b) WM& (i) SE.H. F
| T 378
(c) Theft (i) Section 299, IP.C. () =& (i) SEH. Hi
T 299
(d) Assault (iv) Section 351, LP.C.  (d) ®&&el (iv) SR, FI
U1 351
Code : L T
@ (b) (o (4 @ (b) () (q)
(A) @) () (@) (i) (A) @) (@) () (i)
B @) @) @) (i) (B) @) (@) (i) (iv)
© (v) () @) () (© G(v) @) @ ()
(D) () () @) (v) (D) @) @) @ (i)
76.  Which of the following have been the  76. F=iTHa § | FiTa SR F1 Todg =9 33
main features of the Parliamentary form A ferdrmar © 2
of Government ?
(A) Cabinet collective responsibility to (A) ¥uz & 9fq Ffate w1 amfes
the parliament ERISIRIC |
(B) Executive is elected and is not (B) wrEwIftvit fraffaa g & sit ==
responsible to the legislature fauifaert % wfa Sueer 76 dmr
(C) Head of the State is always elected (C) T =1 Hfgan g8wn fFaifag g &
(D) Head of the State is permanent (D) T =1 g W g
SPACE FOR ROUGH WORK / 1% &4 & fordt wig
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77. The Indian Constitution is : 74y 8

(a) Unwritten Constitution
(b) Written Constitution

(c) Largely based on Government of
India Act, 1935

(A) (c) and (a) are correct.
(B) (b) and (c) are correct.
(C) (a) and (b) are correct.

(D) None of the above.

78. Maine talked about the four stages of 78.

development of law. Arrange them in
order :

(a) Customary law

(b) Law made by the ruler under divine
inspiration

(c) Codification

(d) Priestly development
Code :

(A)  (d), (b), (@), (c)

(B) (b). (a), (d). (c)

©) () (@), (b), (d)

(D) (d), (c), (b), (a)

YRS HiayH § :

()
(b)
(c)

(A)
(B)
©

(D)

sfefaa dfaum
fafa dfaum

YHE WhRR Afafm, 1935 T =9
®Y 9 auifig

(c) ¥R (a) wet ¥ |
(b) R (c) W ¥
(a) 3R (b) Tt 1
I § F FE A

T 3 FA F1 fawm F =R =l w5 oaw
F 2| 5% HH H GIET

(a)
(b)

(©)
(d)

%<

(A)
(B)
©

(D)

wigs fafy

B FTon F il W g aAn
& |

Hfgar

s

(d), (®), (@), ()
(b), (@), (d), (c)
©. @), (b), (d)
(d), (), (b), (a)

SPACE FOR ROUGH WORK / 7% &1 & fol sme
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79.  In'which of the following Countries, the ~ 79, ¥eag %t framum % siata frer & & form
citizen enjoys the dual citizenship, i.e. W H, ST e A 713, wid #
special citizenship of Province (State) and A wE | H A 2 w5 AT
Union, under the idea of federalism ? A 2
(A) US.A. (A) J@HT
(B) India (B) ¥Rd
(C) Canada (©) =Ar=T
(D) UK. (D) ..

80. Assertion (A) : Electronic governance 80. UM (A): TAFI T F1 o8 & THT
aims to facilitate electronic filing of TSI < W1 XS % serme it Wit
documents with govt. agencies so as to 1 GIH T § TR TR Ganei @) g
promote efficient delivery of government F Ty SR w1 wF |
services.

Reason (R) : Electronic governance W®IT (R) : FARIH o0 399 991 59
provide better service at reduced cost, TE W I R, WEER FFH wE@ T L]
minimise corruption and improves the SaTeedE], e, w famiar HYR &1
accountability, transparency and gl
responsiveness.
Choose the correct answer : HE IT 1 =T FIHC
(A) Both (A) and (R) are true, but (R) is (A) (A) 3R (R) & w8 ¥ 93 (R), (A)
the correct explanation of (A). 1 TE ATET ¥
-(B)  Both (A) and (R) are true, but (R) is (B) (A) 3T (R) B W ¥, W (R), (A)
not the correct explanation of (A). 1 WE = E 2
(C) (A) is true, but (R) is false. (©) (A) %l T, &g (R) 7o £
(D) (A) is false, but (R) is true. (D) (A) 7o €, W (R) T R
SPACE FOR ROUGH WORK / 1% &1d & ford wme
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81.

82,

Which of the following grounds of divorce

is/are available only to a Hindu Wife

under Sec. 13(2) of the Hindu Marriage

Act, 1955 ?

Answer with the help of codes given

below.

(a) Repudiation of marriage.

(b) Non payment of maintenance in
certain cases.

(c) Pre Act bigamy by the husband and
both the wives are alive.

(d) Husband is guilty of rape, sodomy
and bestiality.

Code :

(A) (b), (¢) and (d) only

(B) (a), (b) and (d) only

(©) (d) and (b) only

(D) (a), (d), (c) and (b)

Payment in due course means payment

in accordance with :

(a) Apparent tenor

(b) In good faith

(c) Without negligence

(d) Not in possession whose title does
not appear to be defective

Choose correct answer :

(A) (a), (b) and (c) are correct, but (d) is
incorrect.

(B) (a) and (b) are correct, but (c) and
(d) are incorrect.

(C) (a) and (d) are correct, but (b) and
(d) are incorrect.

(D) All (a), (b), (c) and (d) are correct.

81.

82.

Frerifera & foret amumi W feg faame sifufam,
1955 i 911 13 (2) % SHia had feg gt
%1 T ol fosheq Suey & ?

3 I H Fie F ST H E

(a) Taame =1 sreaispm &4

(b) el ferdre et & sfte frafe =51 =
qEA

(¢ T TR F aia fgfaaw sefs
ofeal sfifed & |

(d) Il SR, TRHYT T e b <
Al

<

(A) T (b), (c) T (d)

(B) %9 (a), (b) T (d)

() a (d) TS (b)

(D) (@), (d), (c) T (b)

HAER qmaE &1 3%y & qa
F IR

(a) 3 TR

(b) HIHE

(c) Torm aroandt

(d) =% =g foreeht g 9 g A fomm
AFAFIR

uﬂmgﬁq:

(A) (a), (b) 3T () §E €, W (d) To7 B |

(B) (%a)aih(bms‘r%m@)eik(d)w
|

©) g}ﬁt(dmﬁim(b)ma)w
|

(D) W (a), (b), (c) 3R (d) =& ¥
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83. - The provision pertaining to Amendment ~ 83. WfauR ¥ Yoiem Q Hafa TEuH SRYR
of Constitution is provided in the % forg org=e ¥ fem man &2
Constitution under :

(A) Article - 323 (A) =% - 323
(B) Article - 329 (B) =% - 329
(C) Article - 368 (C) IT=% - 368
(D) Article - 324 (D) arﬁh - 324

84. Assertion (A) : No person except the  84. T (A) : 9= ¥ TEI-firan, o
father or mother or the guardian of a child W%ﬂﬁlﬁﬁﬁ‘ﬂmﬁﬁﬁﬂﬁﬁﬁ
shall have the capacity to give a Hindu T I TSR F & Y e 76 v
child in adoption.

Reason (R) : Because Section 9(1) of the T (R) : Fifh wo1 wawm, feg goe o

Hindu Adoptions and Maintenance Act, R sifufem, 1956 Ftuwo(1) # fean

1956 provides so. TR

Answer with the help of code given - 7 T F s s s

below : ]

(A) Both (A) and (R) are true and (R) is (A) (A)@=n(R) 34 w4 & 3R (R), (A) Fi
the correct explanation of (A). Hel = €

(B) Both (A) and (R) are true, but (R) is (B) (A) 7 (R) & v €, T (R), (A)
not the correct explanation of (A). = Wl e T T

(C) (A) is true, but (R) is false. (C) (A)¥H &, 9] (R) 3793 &1

(D) (A) is false, but (R) is true. (D) (A) 379 B, 9 (R) 9 &1

SPACE FOR ROUGH WORK / T% &Td & fod wg
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85.

86.

Assertion (A) : Judicial decisions have
binding force except to the parties to a
particular case.

Reason (R) : Judicial decisions are
subsidiary and indirect source of
International Law.

Find the correct answer :

(A) Both (A) and (R) are true, but (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true and (R) is false.
(D) (A) is false and (R) is true.

The offence of bigamy is committed by a
person under the Hindu Marriage Act,
1955, who marries during the lifetime of
his/her spouse provided :

(a) The first marriage is valid.
(b) The first marriage is null and void.

(c) The first marriage is voidable and
has not been annulled.

(d) The first voidable marriage has been
annulled.

Code :

(A) (@), (b), (c) and (d)
(B) (b), (d) and (a)
(© (b), (c) and (d)
(D) (a) and (c)

85.

86.

s (A) ; freht fafere = 4 wefia
qef % aifaia o=l W =nfas Fofea d
AAF o Bl & |

T (R) : =fa ot st fafu <
e iR ST B B ¢ |

T I F T HIWC

(A) (A) R (R) 3 =& § TG (R), (A)
F gE = ¥

B) (A) 3 (R) 3 T T, fFg (R), (A)
] eI = TE R

(©) (A) T & 3 (R) T B
(D) (A) 7o & 3R (R) &t 1

W #d ot =f, 3799 Teh/afa % shfad &d
Tu feg faare sifufm, 1955 & siaia
fefaare Fear & a9 S8 STUUY TH SR At

(a) wuH faam a9 |
(b) wYw foeme g @ g E|
(c) W ferams YRR wofa € 6 g 7 foha

TR

(d) o YR e e 8 g

E T

(A) (@), (b), (©) T (d)
(B) (b), (@) T ()

© (b))

(D) (a) T (c)
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87. Match the following :
List - I List - II

(a) A.D.M. Jabalpur (i) Bearer Bonds Case
Vs. Shukla

(b) M.S.]M. Sharma (i) Habeas Corpus

Vs. CK. Sinha Case
(c) R.C. Cooper (iii) Bank
Vs. U.O.L Nationalisation
Case
(d) RK. Garg (iv) Searchlight Case
Vs UL
Code :

@ () (© @
(A) @) O (@v) ()
(B) (v) (i) @) (i)
© @ v) @ )
(D) G) (v) @) ()

88. Traditional knowledge has been protected
by certain mechanisms which are beyond
the domain of intellectual property.

State the correct one :

(A) Environmental and Health
(B) Trade and Development
(C) Food and Agriculture

(D) All of the above

Tt -1 -1

(@) TEH. SeER (i) far &tz Fw
A I

(b) TETH. W (i) e wid T
Y H1.%. fam

(€) IRH. FR T (iii) N FvengsvE F4
.30, 9718,

(d) FRF. T aW  (iv) THEEE F
330197
e

@ (® (9 (d
(A) @ @) @v) (i)
(B) Gv) (i) @ ()
© @ Gv) @ ()
(D) @) @v) (@) ()

88. WHITM M # Fw ew fafu & ddum
fopa o & <t we- S et % 49 @ A
£

W& I TR

(A) YT TE @
(B) =ANR Us fawm
(C) = wd Hfw

(D) 39 |t

SPACE FOR ROUGH WORK / T% &4 % ot W
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89.

90.

(@)

(b)
(©

(d

Assertion (A) : Petition for Divorce by
Mutual Consent under the Hindu
Marriage Act, 1955 can be presented if
the parties have been living separately
atleast for the last one year.

Reason (R) : Because Section 13-B(2) of
the Act provides so.

Answer by using the code given below :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).
Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(A) is true, but (R) is false.

(A) is false but (R) is true.

(B)

©)
(D)

Match List - I with List - II under the
Hindu Minority and Guardianship Act,
1956 and find the correct answer :

List - I List - II

Sec. 7 (i) Minor’s welfare is
paramount
consideration

Sec. 9 (ii) Defacto guardian

Sec. 11 (iii) Testamentary
guardian

Sec. 13 (iv) Natural guardian of
adopted son

Code :

@ () (9 (4

(A) () (@) @ (@

(B) Gv) (@) @ @

© (@) @ @) ()

D) (@v) @) @@ @

89.

90.

(@)

(b)
(©)

(d

afereT (A) : feg famme sifafaa 1955,
% Faia, 9 ofa-ucht 9 8 FH 199 TF
3T T 21 1 9t gt § 396 g el
F Tift el 1 g 2

THAUT (R) : Fife w@n w@ye Afufag 6
91T 13-B(2) ¥ faan man 1
freifera e | S 9T

(A) (A) @ (R) S §F T 91 (R), (A)
I e = ¥

(A) T (R) S W § g (R), (A)
i & = T g

(A) ¥ &, W (R) 319 €1

(A) 378 &, 9] (R) €9 &

(B)

©
(D)

feg stevaaen wd sAfyas sfufm 1965

& Havfa el - 1 0 g - 11 1 gafer

I T A IR F1G B |

et - 1 gt - 1

Y 7 () STCITTES N HE
Tl B e

qeq: AfyaEs
aFgEd SfYEE

Y 9
HU 11

(i)
(1)

Y 13

e

(a)
(iv)
(iv)
(iv) (@
(iv)

(A)
(B)
(©)
(D)
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91. The case of SS. Dhanoa v. Unionof India ~ 91. TH.UH. HFIST S YRd 99 &1 a1 T
is related to : g
(A) Art. 19 (A) #I=TI19H
(B) Art. 21 (B) ¥T=T21 A
(C) Art. 324 (C) =334 4
(D) Art. 356 (D) 31T 356 ¥
92. In which of the following situations,  92. wRa# friforfas & | frg aRfcufi § saam
slander is actionable perse in India ? o, A: AN € 7
(A) An imputation that certain female (A) AR %1 H1E Hfeen fagemdr ey
player is of unchaste character. = B 2
(B) An imputation that a person is a (B) SR &t g =af a1 2|
liar,
(C) An imputation that a wrestler is a (C) IR Hi HIE Teerar S ¥ |
womanizer.
(D) None of the above. (D) 390 # ¥ $E &
93.  Which is not coming under the industrial 93, 1= § § FF-71 sieifie T-ANes gafs
intellectual property rights ? SR F sl 7@ amar &2
(A) Patent (A) MR Sfusr(Te=)
(B) Design (B) fesmeA
(C) Trade mark (C) 2= um
(D) Neighbouring right (D) E-YIE 1 HAfuFR
SPACE FOR ROUGH WORK / % &4 & fod W
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94.

95.

Arrange the following in chronological
order :

The four kinds of sources of Law are :
(a) Precedent source of case law.
(b) Legislation source of enacted law.

(c) Agreement source of conventional
law.

(d) Custom source of customary law.
Code :

(A) (d), (b), @), ()

(B) (b), (@), (), (c)

(©) () (a), (b), (d)

(D) (d), (a). (b). (c)

Assertion (A) : Every member of unlawful
assembly in India is guilty of offence
committed in prosecution of common
object.

Reason (R) : Because it is provided under
Sec. 34 of the TPC 1860.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are false.
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

94,

95.

frefafea #1 wemgHs § =afed @

fafy & &9 % SR geR
(a) THuia fafy =1 gd fafola &
(b) fufrafaa fafu & fafufmio ee

(c) I fafy & F IR &

(d) wfes= fafu & fdt fa wm
e

(A) (d), (b), (@), (c)

(B) (b), (a), (d), (c)

©)  (© (a) (b), ()

(D) (d), (a), (b), (c)

SPUHUT (A) : WG H IR d1 W)
B 1T TS AfeR, W SR¥d & S
T STIY 1 6! HE] Sl B

IOT (R) : Fife TE0 emE . 1860 W1
YR 34 & sfarfa feam wan €

(A) (A) 3R (R) 3 @@ ¥ 3l (R), (A)
e A T

(B) (A) 3R (R) 2l o &1
(C) (A)T@ &, fh (R) Tom 21
(D) (A) 7@ %, T (R) Wl &1
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96. What is the effect of violation of the rule ~ 96. ‘‘TW W& %I §T'' ¥ Fam F oo\ =
of “Audi Alteram Partem” on an T Fed W 31 J9E A g ?
administrative action ?

(A) Mere irregularity (A) 9 SAfTafaaa

(B) Null and Void (B) ¥ T YA

(C) Ilegality (C) srduar

(D) Voidable (D) YEHIY

97.  According to Starke, before belligerency ~ 97. W ¥ IR, I WA FRT G F
is recognised by the other States, certain veur ¥ gd fafde uftfef w1 @ sravas
conditions must exist : ?:

(a) Hostilities should be of a general (a) Fs-Toft & g wgo & &t
character. It should not be confined e | 98 6T & Had TF 9 aF
to only a part of the State. Hifiga =& e =nfew

(b) The rebels or insurgents must be in (b) UL FTH Y-y ¥ faRifedi & ammaa
control of a substantial part of FLA el & FrEe # fr =
National Territory.

() Both parties must not act in (c) 3 uw, 35 % Frei & srER e
accordance with the laws of war. H & |

Find out the correct answer : 'ﬂﬁ S & 994 ﬂﬁﬁql

(A) (a), (b) and (c) are correct. (A) (), (b) 3R (c) T&t §1

(B) (b) and (c) are correct and (a) is (B) (b) 3R (c) Wt & 3R (a) 7o B
incorrect.

(C©) (a) and (c) are correct and (b) is ©) (a) 3R (c) W& T 3R (b) e B
incorrect.

(D) (a) and (b) are correct and (c) is (D) (a) 3R (b) &t ¥ iR (c) T B
incorrect.
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98. The Nuremberg Trail were held at : 98. =uwent grEet wel saifea fohan e o ?

(A) Japan (A) ST
(B) Germany (B) sl
(C) Holland (C) wieie
(D) Hague (D) =

99. Match List - I with List - Il using the 99. fr=fafEa F= &1 3w Fx gEt - 1 H

code given below : g - [ F Wy gafea Hifeg )
List - I List - II gt -1 et - 11
(@) Theft (i) Section 378 (a) = () w378
(b) Robbery (i) Section 141 b) & (i) MW 141
(c) Dacoity (ili) Section 390 (c) T (iii) T 390
(d) Unlawful (iv) Section 391 (d) Tafufarg swEe (iv) o391
Assembly
Code : Fe
(@ (b) (o) (d) @ (b (0 (d
(A) (@) (@) @v) @) (A) (i) (@) (@v) (@)
(B) (v) (i) (@) @) (B) @v) @) @) (@)
© O @) @) (@) © @) @) @) (@)
(D) (i) @v) @) @) D) @) @v) @ @
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100. When the time is of the essence of contract, ~ 100. & TH¥, Hfde #1 7e & ) Wiy & -
the contract is :

(A) Void (A) ¥

(B) Voidable (B) IEHIONY

(C) Valid (C) fafmr=

(D) Not Voidable (D) YO T &
-00o0- -00o0-
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SET - A
FT R T T AT : 2§ TeRaT 3 ; 200
Maximum Marks : 200

Time for marking answers : 2 Hours

1L 38 yE-YaE § 100 FGiTS w99 ¥ - voiE v 2 o5 o E Wl w¥7 7 O e §

Wi % I T OMR STR-¥ie (STRR-32) T i sifew|

o

3.  HUIHT qodih Jel fhan S|

4. ot oft T % Fagper @ @i o uE Hiane B w5 wEn atte 2

5. OMR TW-¥M2 (AE-3M2) mmmwiﬁﬁ%mmﬁaﬁ/mﬁmﬂ%wmm
35 TIg 1 faere ofs v w1 fowis woreey 98 @ @ 5|

Note :

1. There are 100 objective type questions in this booklet. All questions are compulsory and
carry 2 marks each.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.

Set - A 56 9210/TFU-LW/ELG-I1

F




